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EXAMINATION PAPEBS IN ABITHMETIC. 37

EXERCISE Vlir.

f 1. Find the value of VV of a farm, if ^V of it bo
worth $4284.

f 2. The product of three numbers is 194^ ; the
first number is 21, the second 5}, What is the
third ?

3. Divide the sum of the two largest of the fol-
lowing by the difference between the two smallest

:

,n f' ^^P^®«s ^ of l,v of \^ as a, fraction having
560 for its denominator.

5. I own ^f of a vessel, and sell Jf ofmy share
;

the part I have left is worth $2970. Find the value
of the whole vessel.

6. Find a fraction equal to |f whose numera-
tor is 44 less than its denominator.

7. If the multiplicand were 546 more it would
be 760900

;
if the product were 718936 less it would

be 1167581714 multiplied by 5. Find the multi-
plier.

8. What will 24 chests of tea cost, if each chest
contain 41|^ pounds, and 7 lbs. b« worth $4.55 ?

9. Ihe divisor is f of ^f + j-f of | of ||, the
quotient is ^S of ^ of H of \l, the remainder is

i}-^^\. What is the dividend ?

10. If 39f btishels of wheat sow 18 acres, how
many fields, each containing 15 acres, will 231
bushels sow ?

11. Divide $920 between A and B. ffiving A *
as much again as B.

12. Find the least common multiple of 153999,
252327 and 528613.
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